FgArea: ['E']
NC11 P6
2025-05-25 (Day 50)
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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [["I", "lopt’], ['T", "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAl’, ’optEtRate’]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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P6AE

BfiE) | BB (F) | EdiE (EHA/HK) [ XR R

07:35 333 160.0 E|  FiHBe07:35 KREFRF (RFAEREE)
08:00 333 160.0 5| THA@08:00 REFEF (KEAERR)
08:25 333 160.0 5| THR08:25 KRENFERF (KF1RELEE
09:25 333 160.0 5| THEBe09:25 REFEF (KFEAERSE)
10:10 333 160.0 5| TiHe10:10 RHEF (CREAEZRSE)
10:50 333 160.0 5| FiHe10:50 REEEF (KEERSR)
11:30 333 160.0 5| TiHEe11:30 RHEF (KEAERSR)
12:05 333 160.0 5| TiHe12:05 REFESF (KREAERSE)
12:40 333 160.0 | FiHe12:40 RHEF (KEEZSR)
13:15 333 160.0 5| TiHe13:15 RHEF (KEAERSR)
13:95 333 160.0 5| TiHfe13:55 REFERF (REAERSE)
14:35 333 160.0 | FiHfe14:35 REEF (KREEZSR)
15:20 333 160.0 5| FiHe15:20 RHEF (REAERSH)
16:10 333 160.0 5| THR@16:10 KRENFERF (RA1RREE)
21t 4662.0 (14)%) 2240.0 3EHKEC: 2080.0, PH: 5.5

FHEKRECE (2110.0 vs 3403.0) i d5
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P6AE_E, Day=50 (2025-05-25)
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P6AE
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P6AE_E, Day=49 (2025-05-24)
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